Kep 20 Ecic ¢ 20u faBuou
A" Opada
1. Na woere TIC £E1I0MGELS:

a) 4x% +2x=0 B) 3x% +6x=0 y) 5x% —=x=0

2. No Moete TI¢ e€10MoEIS:
a) x> -9=0 B) 4x’ —25=0 y) 25x7 =1

3. No weere TG £E1000EIC:
a) x> +x-2=0 B) 12x* =Tx +1=0 y) 10x* =3x-1=0
3) 4x?+3x-1=0 g) 5x° =17x+6=0 ot) 2x> —=x=20=0

4. Na woete TI¢ e€16MoEIS:

@) Bx+1)* —(Gx+1)(4-x)=0
B) (5x+1)° —2(5x +1)(x +2)=0
y) 1=x)? +(x-1)(2x=5)=0

5. Nawoere mv eEiowmon:
(x=3)7 —=(x=1)*+7x* =7(3x - 4)

B Opada
1. No hvBoidv o1 ebichoel :

a) 3Ix=2x—1=0, PB)4x*+12x+9=0, ) Tx*+3x+5=0

2. Na bodv o1 e£1606EC :

a) (2x+1)Y=4x=5, B) (x=2)"+(3x-2)(3x+2)=6x, ) (3x+1)\ =(3x=1)"=(x+1)(x+5)

3. No kobovv o1 EE16OGEL :
0) (2x=17 +4x*2x=8x"-1, B) (2x"=1)(2x*+1)-(2x"=3)*=11x(x~1)-20
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